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Monday October 28, 2013

--- On commencing at 9:29 a.m.
MS. HELT:  Good morning, everyone.  I take it everybody is ready to go.  My name is Maureen Helt, and I am counsel with the Board.  And I have two Board Staff with me who will introduce themselves in due course.  Prior to doing that I would just like to make some preliminary comments.

Our transcriptionist today is Sandra.  She will be transcribing this technical conference.  If there is a time when she can't hear what you are saying, she will remind you to put your microphones on, and you will note -- and perhaps your counsel has already told you -- that there is a button in front of you on the console that you have to push and a green light will come on.  That indicates your microphone is on.  

     This technical conference is also being transcribed and on-air, so it is being broadcast.  

     The technical conference itself was ordered by way of Procedural Order No. 2.  The Board file number for this proceeding is EB-2013-0147.


As I'm sure you are all aware, the purpose of the technical conference is set out in Rule 27 of the Board's rules of practice and procedure.  It's really to review and clarify the application and any evidence that has been filed by any party, and to review and clarify any matters relating to interrogatory responses.


I am aware that there have been some technical conference questions filed in advance of this proceeding by Energy Probe, VECC and Board Staff.  And today Kitchener has provided a hard copy of those responses to the particular questions.  We will mark that as an exhibit when the technical conference commences in substance.  

     The only other procedural matters I would like to raise are that Board Staff will be pulling up the various documents that have been filed in evidence when they are being referred to in the technical conference.  So while you may want to refer to your hard copies, we're also going to do our best to enter the electronic age and have the documents actually appear on your monitor.  So this is a new project being undertaken by Board Staff, and so we may need a little bit of patience, but we may not.  We'll just see how that goes.


We'll also take a break at some point this morning to give the reporter a break, and we'll just see how things proceed.  But usually we take a break at around 11:00 o'clock, and then if we're -- if it looks like we might be able to be finished before lunch we'll go a little later.  Otherwise we'll take a break when it's deemed appropriate for lunch.  

     At this time I think it would be helpful to go around the room and have everyone introduce themselves.  So again, my name is Maureen Helt.  I'm counsel with Board Staff.  


APPEARANCES:
     MR. RITCHIE:  Keith Ritchie.  I'm with Board Staff, and I'm the case manager on this application.  


MS. CASTELLANES:  Bendimia Castellanes, Board Staff from regulatory audit.  

     MR. HARPER:  My name is Bill Harper.  I'm a consultant for VECC.  

     MR. AIKEN:  Randy Aiken, consultant for Energy Probe Research Foundation. 

     MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.

     MR. SIDLOFSKY:  James Sidlofsky, Borden Ladner Gervais, counsel to Kitchener-Wilmot Hydro.

     MR. BACON:  Bruce Bacon, Borden Ladner Gervais, rate consultant to Kitchener-Wilmot Hydro.  

     MS. BLAKEMAN:  Kelly Blakeman, senior regulatory analyst. 

     MS. MUIR:  Liz Muir, manager of regulatory affairs.

     MS. NANNINGA:  Margaret Nanninga, vice-president, finance.

     MR. VAN OOTEGHEM:  Jerry Van Ooteghem, president and CEO of Kitchener-Wilmot Hydro.

     MS. YARASKAVITCH:  Rhonda Yaraskavitch, director of customer services and conservation.  

     MR. GARNER:  Mark Garner, consultant with VECC.  


MR. CAMERON:  Greig Cameron, engineer, manager, Kitchener-Wilmot Hydro.


MR. MESTON:  Wilf Meston, vice-president, operations for Kitchener-Wilmot.  


MR. FRANK:  Lloyd Frank, vice-president, engineering and distribution for Kitchener-Wilmot.  

     MS. HELT:  Thank you.


I understand from Mr. Sidlofsky that there are no preliminary matters he would like to address at the outset of this technical conference.  Oh, perhaps I'm wrong. 

     MR. SIDLOFSKY:  Sorry, Ms. Helt, just one thing I should probably mention.  As you said, Kitchener-Wilmot has provided responses to the technical conference questions.  I understand that there are a few responses that are outstanding, and Kitchener-Wilmot is prepared to provide an undertaking to provide those responses.  I think that perhaps Ms. Nanninga or Ms. Yaraskavitch could identify those questions. 

     MS. HELT:  All right.  Then maybe what we should do at this point is, just for the record, I'm going to mark the written responses to the technical conference questions from Board Staff, VECC and Energy Probe as Exhibit K1.1 -- KT1.1, I'm sorry.  And perhaps we can have the undertaking identified at this point in time, where we can set out which questions have not been answered at this time?

EXHIBIT NO. KT1.1:  WRITTEN RESPONSES TO TECHNICAL CONFERENCE QUESTIONS FROM BOARD STAFF, VECC AND ENERGY PROBE

     MS. NANNINGA:  There's three undertakings:  6 Energy Probe 74, 9 Staff 57 TC, and 9 Energy Probe 75.  

     MS. HELT:  Can you just repeat those a little slower this time, please?

     MS. NANNINGA:  Okay.  6 Energy Probe 74, 9 staff 57 TC, and 9 Energy Probe 75. 

     MS. HELT:  Thank you.  So we'll mark those, then ,as JT1.1.

UNDERTAKING NO. JT1.1:  6 ENERGY PROBE 74

MS. HELT:  JT1.2 will be the 9 Staff 57 TC.

UNDERTAKING NO. JT1.2:  9 STAFF 57 TC

MS. HELT:  And JT1.3, 9 EP 75.  

UNDERTAKING NO. JT1.3:  9 ENERGY PROBE 75
     MS. HELT:  Are there any other preliminary matters that any of the parties would like to raise at this time?  No?  All right.


I did have some discussion with the intervenors just prior to going on-air, and I understand that they would like to have an opportunity to review the responses that have been provided in KT1.1.  So I would suggest we take a break at this time.

Mr. Aiken?  

     MR. AIKEN:  Yes.  Can I just ask one question that maybe you can work on while we're looking at the responses?

And my understanding is, from the tracking sheet you provided, the deficiency is now about $891,000.  First, have I got that right?  Okay.  Then I'm a little confused, because that's only a reduction in the sufficiency of about 13- or 14,000.  But when I look at the revenue numbers at existing rates -- and what I'm doing is I'm looking at the response to 8 -- sorry, to 7 VECC TCQ 55, which shows 2014 proposed revenue at existing rates, and that is shown as 37.4 million.  That's with the transformer allowance removed.

But in the revenue requirement work form that was provided at the conclusion of the interrogatory phase, it shows distribution revenue at existing rates of 38.24-million.  So there's about an $800,000 reduction in revenue, it appears, at existing rates.  

     MS. NANNINGA:  I don't have the spreadsheet that has the updated distribution revenue at existing rates with me.  The interrogatory phase ends where the change is 18,000, about halfway down the page.  Everything subsequent to that are changes that were made during the supplemental interrogatory process.  I do have the sheet, obviously, that calculates the distribution -- revised distribution revenue at existing rates, and I can provide that to you.

     MR. AIKEN:  I guess my question is:  If distribution revenues have fallen by $800,000, why isn't that reflected in the bottom half of the tracking sheet?

     MS. NANNINGA:  I have to take a look at the sheet.  

     MR. AIKEN:  Okay. 


MS. HELT:  Okay.  And we can come back to that then when we reconvene.


So unless there are any other preliminary matters I would suggest that we break at this time.  Should we take half an hour?  Is that sufficient?  45 minutes?  

     MR. AIKEN:  I think 30 minutes. 

     MS. HELT:  30 minutes?  Okay.  So we'll break now, then, until 10 past 10:00.  Thank you.  

     --- Recess taken at 9:39 a.m.
     --- On resuming at 10:21 a.m. 

     MS. HELT:  All right then.  Okay.  So we're set to commence with the questions.  I understand that Mr. Harper is going to go first with his questions.


QUESTIONS BY MR. HARPER:

     MR. HARPER:  I'll be dealing with questions around Exhibits 3, 7 and 8, so actually I would like to start off by -- if you could turn up your response to Technical Conference Question No. 44, part (b)?

Actually, this is just a matter of clarification.  I think the -- and I'm talking about the load forecast excluding the imbedded distributors, so we’re all on the same page.  

I understand that sort of the –- the final forecast you are proposing has an end-use forecast for all customers, except the embedded distributor, of 1,779.1 gigawatt-hours? 

     MS. NANNINGA:  That's correct. 

     MR. HARPER:  I know there was the original forecast you filed with the application.  But at the time of the end of the interrogatory process, if I can just confirm, the equivalent forecast was 1,775.7 gigawatt-hours.  So there was a slight increase over what was forecasted at the time of the end of the interrogatory process? 

     MS. NANNINGA:  Correct. 

     MR. HARPER:  I just want you to -- sort of to help us understand, what were the -- maybe just as a high-level, what were the changes from the end of the interrogatory process to now that led to that increase?  

I think I know what they are, but I thought if you could maybe just articulate them for me, that would help clarify things.

     MS. NANNINGA:  The large user, there was an adjustment to the large user in the manual adjustment section from the 34 to the 31.  I think that was from one of the questions you posed.  

There was that adjustment, and we updated the CDM variable from 6,537 to 65 and 64. 

     MS. HELT:  That was just the CDM variables for '13 and '14, right?

     MS. NANNINGA:  Correct. 

     MR. HARPER:  That was what I understand, but I just wanted to make sure that we were –- actually what the changes were.  

If you could then maybe response to VECC Technical 

Conference 45(c)?  Here, we’d asked you basically to sort of indicate what the revenues would have been if that large user that you are forecasting will disappear some time during 2014.  And your response was that the resulting revenue would be a little over $400,000, but it is

unlikely this would come to fruition, as the distribution centre has already closed.  

I was wondering if you could turn up your original response to VECC Interrogatory No. 12.

     MS. NANNINGA:  Yes. 

     MR. HARPER:  Just the first sentence of that response reads:

"The distribution centre was closed on September 1st, 2013, with little impact on the electricity load."

So if I look at that response, the technical conference question really -- the distribution centre, if I understand your original response to the interrogatory,

doesn't really have a material impact on that $400,000 revenue estimate. 

     MS. NANNINGA:  I think I'll let Rhonda talk to that one, because she's more familiar with the that large user information. 

     MS. YARASKAVITCH:  Initially we are finding, although the distribution centre has officially closed September 1st, there is going to be a lag where they are still using refrigeration.

So currently, there is not a major impact, but we are anticipating before the end of the year that will change significantly. 

     MR. HARPER:  Fine.  Thanks.  I guess you still -- I know you've been trying to have some discussions with the customer about what their plans are, and you still don't have -- haven't been able to get any specific information from them on exactly when they are going to close in ’14, or how they are going to phase out the load. 

     MS. YARASKAVITCH:  No.  We did attempt to secure that 

information.  They were very cautious with answering.  They realize this is a public forum.

So they –- historically, on other locations, they have given very quick closures, two to three months' notice.  So I think that's our feeling, that that's why they are 

hesitant to divulge anything to us.

     MR. HARPER:  That's fine.  I just wanted to ensure there wasn’t any more recent update available.

If you can turn up your responses to VECC Technical Conference Question 46, in particular parts (b) and (c), I 

note in your comments early this morning about the outstanding IRs that were still to be responded, none of the VECC questions were referenced, and there wasn't any response provided to either of these two parts of the interrogatory.  

And I was just curious whether that was an oversight, or what was going on, to be quite honest. 

     MS. YARASKAVITCH:  Apparently that was supposed to be in my list of undertakings.  So we'll update that for you. 

     MS. HELT:  We will note that as JT1.4, will be an answer to VECC Technical Conference No. 46, parts (b) and (c).  

UNDERTAKING JT1.4:  TO PROVIDE RESPONSE TO VECC TECHNICAL CONFERENCE QUESTION 46, IN PARTICULAR PARTS (B) AND (C).
     MR. HARPER:  And actually, if you want to hold there, and we can go back up one to 46(a), here I think we'd asked you to update the CDM projections for '13 and '14.  And this is what we've been talking about earlier, I believe, as what you incorporated in the load forecast that 

you filed with the technical conference responses? 

     MS. NANNINGA:  Yes. 

     MR. HARPER:  Now, I look at these numbers here and they are –- actually, the program impacts for '13 and '14 shown here seem to be slightly different than what is shown in the actual load forecast equation that you filed, and which copies can be found on page 36 of the PDF document

that you have filed as part of the technical conference 

questions.  

From my quick review, there's not a big difference, but I just wanted to clarify that it's the numbers on page 36 of the PDF document that are the correct ones, and not the ones actually shown in the response to VECC Technical Conference Question No. 46(a).  

     MS. NANNINGA:  Kelly is just checking.  I see the 9,237,399 -- Kelly, that is where the differences are?  Which one is the most up-to-date figure?  

We'll have to take a look at the model.  If -- I think it's the 9,311, the actual live model that's attached.  We just to have confirm that for you. 

     MR. HARPER:  If you could.  The only reason I’m asking is because those are the numbers that will form your LRAM calculation going forward.  I just wanted to make sure we were all clear on what they were at this point many time. 

     MS. HELT:  That will be Undertaking JT1.5, to provide clarification with respect to whether or not the numbers provided for in response to VECC Technical Conference 46(a) are the most up-to-date, or if the most up-to-date numbers are located at page 36 of the PDF document that was filed and attached to the technical conference question 

responses. 

UNDERTAKING JT 1.5:  TO CLARIFY LOCATION OF UP-TO-DATE NUMBERS FOR VECC IR 46(a).

     MR. HARPER:  Yes, thank you.  Now before we leave that 

response, that page of the PDF document, page 36, I would just like you to note the fact that the numbers you have there are -- for program impacts for '14 is 9,311,694, if we could just keep that number in our mind.  Okay?

And then I would like you to turn up page 33 of the 

PDF document, that same PDF document, if you scroll back three pages?

If I look -- this is where you're going through and making the -– you’ve made the various adjustments to your final load forecast, in terms of, you know, sort of a coming back, so the forecasts sort of meet that, or the weather-normalization.  And then you actually have your CDM adjustment shown on that page as well.  And if I notice on that page, you have a CDM adjustment of 18.6 gigawatt-hours; is that correct?  Which is basically twice the -- which is basically two times the 9.3 we saw on the previous page, the sum of 13 and 14.


Now, if you recall, a lot of the adjustments you made to your load forecast was because of the half-year rule, in terms of the model.  And so shouldn't that 18 million really be 9.3 gigawatt-hours for 2013 programs, plus only half of that again for 2014?  And so the number would actually be less than 18.6 you are showing there?  

     MR. BACON:  To be consistent with the Centre Wellington decision, yes, that would be the rate.  

     MR. HARPER:  Okay.  So maybe -- maybe sort of -- I don't know if we could -- if that's the case, we should probably get an undertaking to update this load forecast for the revised CDM estimate for 2014.

     MS. HELT:  Okay. 

     MS. NANNINGA:  Yes, that's fine. 

     MS. HELT:  JT1.6, an undertaking to provide the revised load forecast for 2014.  

UNDERTAKING NO. JT1.6:  TO PROVIDE REVISED LOAD FORECAST FOR 2014

     MR. HARPER:  That's all I have for the load forecast part.  I don't know if any of the other intervenors have any follow-up to what I said, or whether I should move on to the cost allocation at this point in time. 

     MR. AIKEN:  Maybe I can just follow up with some of that.  And I'm looking at the tracking sheet and just trying to match up what it says here with what you discussed earlier with Bill.  

     The first item that changed as part of the technical conference questions of the tracking sheet refers to 4 VECC Technical Conference Question 45, and it's to update large user.  And Bill asked you about that this morning.

And I take it that as a result of that, there's about $35,000 in additional revenue from the large user class, because the sufficiency goes from 919,000 to 955,000? 

     MS. NANNINGA:  That's correct. 

     MR. AIKEN:  And then the following line, 3 Energy Probe 65, the sufficiency -- or, sorry, the sufficiency decreases because of the increase in the cost of power.  But then it's the next line after that, 4 VECC TCQ 46, the updated CDM, there's hardly any change at all in the deficiency -- or sufficiency, I should say, by about $140.  Is that...

     MS. NANNINGA:  Yes, the difference is really, really minuscule.  The amounts changed from -- just bear with me –- 6,543 to 65 even, and 64...

     MS. BLAKEMAN:  561 -- originally it was 6,561,443, and it went down to 65 even for 2013 and 64 even for 2014, so there was very little difference.

     MR. AIKEN:  And then the question I had before we broke, if you've reconciled the $800,000 difference in these numbers that we're seeing?

     MS. NANNINGA:  Liz is going to speak to that.  

     MS. MUIR:  So the base revenue requirement was 37.4 million, and then we have a gross revenue sufficiency.  So if you add that together, you come up to the $38.2 million that is the answer to 7 VECC TCQ 55. 

     MR. BACON:  If you go -- let me just help out here a little bit.  If you go to the tracking sheet and if you look at the base revenue requirement at the very top, 37,414,668, and you add the sufficiency to that, you will get the number in TCQ 55.  

     MR. AIKEN:  Okay.  So the number in -- okay.  So that's going to be the revenue recovered.  It's not really revenue at existing rates. 

     MR. BACON:  I believe it's revenue, existing rates.  We're dealing with the sufficiency, remember. 

     MR. AIKEN:  Yeah, but how can the revenue at existing rates be 37.4 million and then the revenue requirement work form, it says distribution revenue at current approved rates is 38.2 million?

     MS. NANNINGA:  The base revenue requirement, after all the adjustments that is being applied for, is 37,414.  The --

     MR. AIKEN:  So that's why I'm saying that's the revenue that you are going to collect based on your new rates for 2014. 

     MS. NANNINGA:  Correct. 

     MR. AIKEN:  Your rates, your current rates, 2013 rates, produce a revenue of 38.2 million? 

     MS. NANNINGA:  Correct. 

     MR. AIKEN:  Okay.  That explains it, then.

     MR. HARPER:  I would like to turn to the cost allocation portion of your responses, and particularly response to VECC 53(b) from the technical conference questions.


Now, I understand that in allocating -- in assigning costs to the embedded distributor, basically you've used a 9 percent mark-up to cover administration costs?

     MS. NANNINGA:  Correct. 

     MR. HARPER:  And I just want to confirm that if I look at the response to part (b), which is dealing just with the mark-up on O&M that's built into the cost allocation model in order to cover off administrative expenses, you would agree with me that the mark-up there is more in the order of -- if I can find it -- 24.5 percent, as opposed to 9 percent?

     MS. NANNINGA:  Yes, I suppose that's true. 

     MR. HARPER:  Okay.  Fine.  And if we look down, the second part of this, which is the -- dealing with general plant, which is part (c) -- and maybe -- I'd just to ask you to confirm for me that the general plant dollars that you're reporting in part (i) are the net book value numbers; i.e., after you removed accumulated depreciation?

     MR. BACON:  In (i), that's the net book value. 

     MR. HARPER:  Right.  And if I look at the next one, which is the total value of the allocation base used, the 203 million, that is also net book value?

     MR. BACON:  It's the amount that is in sheet 06, is the allocator base. 

     MR. HARPER:  Right.  And the allocator base is net book value?

     MR. BACON:  I can't say for sure until I look at it.  Do you want me to take it as an undertaking, or...

     MR. HARPER:  Well, because I just want to confirm -- and maybe the third point is -- is that the 824,000 you've got in point 3 there is actually gross book value. 

     MR. BACON:  No.  

     MS. MUIR:  No, I believe it's net book value.


MR. HARPER:  Well, if...


MS. MUIR:  I believe there was -- I'm not sure, but I believe there was accumulated depreciation on that. 


MR. HARPER:  I believe if you look at your cost allocation model it reports a net book value of 500 and some-odd thousand dollars.

Maybe you could just take that as an undertaking, go back and confirm that all those numbers are calculated to the same basis -- i.e., net book value -- and what the percentage is if you do calculate them all on the same basis; i.e., net book value.

     MS. NANNINGA:  Okay.  Yeah, we can check that. 


MR. HARPER:  That would be great.

     MR. BACON:  Can I make a suggestion?  Is that possible at this -- on these particular questions sometimes it's a little difficult, what number you want, so if you could just direct us where you want the number from, that would be helpful next time, if that -- we had to basically interpret what the number you wanted from here. 

     MR. HARPER:  Well, actually, I was wanting you to give me your interpretation so that I wasn't putting a number in your mouth, and we could agree on your number at the end of the day, as opposed to you having to agree with my number at the end of the day, because if I say:  What's the number on this particular spreadsheet, that's a pretty easy thing for you to answer.  I was looking for your interpretation, so that I -- if I agree with your interpretation, there is no argument, basically. 

     MS. HELT:  Undertaking JT1.7 will be to provide the value, if it is in a net book value or otherwise, for VECC 53, part (c), (i), (ii) and (iii), and also to provide the resulting percentage for VECC 53(c) (i), (ii) and (iii).

UNDERTAKING JT1.7:  TO PROVIDE VALUE FOR VECC 53(C)

(I), (II) AND (III), AND TO PROVIDE RESULTING PERCENTAGE FOR VECC 53(C)(I), (II) AND (III)
     MR. HARPER:  Thank you.

Maybe now we could just turn to the main application itself, Exhibit 7, tab 1, schedule 1, page 7.  I am looking specifically at table 7-8.  

     MS. NANNINGA:  I'm sorry, could you repeat that? 

     MR. HARPER:  It is Exhibit 7, tab 1, schedule 1, page 7.  And on that page, I am looking specifically at table 7-8.  

     MS. NANNINGA:  Page 7?  

     MR. HARPER:  Page 7 of 11.  

     MS. NANNINGA:  Okay. 

     MR. HARPER:  I guess here you've noted yourself that there was a material difference in the costs attributed to the embedded distributor, depending on whether you used the Board's cost allocation model or whether you used appendix 2Q of the appendices portion of the file, the filing requirements. 

I was just curious.  Did you do any work yourself, in terms of looking at sort of -– and what sort of gave rise to the difference between the two?

     MS. NANNINGA:  Well, the big difference is the cost allocation model.  First, we did the appendix 2Q, because it's very similar to a model that we used in 2010, that was used by the former Ontario Hydro.

 So we used that, and the cost looked pretty reasonable.  But we were instructed by the Board in 2010 that we had to add the embedded distributor into our 

cost allocation model, and we did that.  But the cost allocation model does not work the same way as appendix 2Q. And we did work with Board Staff on it, but we weren't able to get to the same place no matter what we did.  

     MR. HARPER:  That's fine, and actually I must admit I tore my hair out a bit last night trying to look at this, too.  And I don't want you to go back and do any calculations, so feel satisfied with that.  

But what I believe -- and I would just like you to perhaps look at that part of schedule I-9 of the Board’s cost allocation model and confirm, because I believe 

the Board's model is doing the same thing we talked about earlier with you, and it's got an allocator that's got a mix of both net book value and gross book value.  And as a result, it's coming up with inconsistent answers, because you’ve got an numerator and denominator that aren't calculated on same basis.  I would like you to maybe see if you would agree with me on that.  

If you look at sheet I-9, which is the direct allocation, and specifically at cells N-149, N-150 and N-151, that is where the PILS, the interest and the net income are being allocated.

I don't want you to go and change anything, but if you're willing to go back and look at it, and just agree, too, that there seems to be a problem with that, we can then at least identify maybe where the differences are, and deal with the issue when it comes to the settlement conference. 

     MS. NANNINGA:  That’s a great idea because it -- we were getting frustrated at our end trying to get at least close to the same results, but we couldn't do it. 

     MS. HELT:  If I understand correctly, Mr. Harper, what you are asking for is an undertaking that Kitchener look at sheet I-9 of the Board's cost allocation model, particularly cells N-149, N-150 and N-151, and confirm whether or not they agree with your view that 

the allocator seems to be either net book value or gross book value? 

     MR. HARPER:  In light of the – the numerator is net book value, the denominator is gross book value.  And if you could just agree with that view, that would help us going forward.  

     MS. HELT:  All right, that will be JT1.8.  

UNDERTAKING JT1.8: CONFIRM WHETHER SHEET I-9, CELLS N-149, N-150 AND N-151 ALLOCATOR MIXES NET AND GROSS BOOK VALUES

     MR. HARPER:  Then I would like you to turn up the response to VECC 58.  That's page 25 of the PDF document on the technical conference question responses.  

I had some questions on this, but just to confirm, your responses here basically aren't -– these aren’t revenues at current rates; they are revenues at proposed rates for each customer class, is what you are showing here on parts (a) and (b)?  

     MS. NANNINGA:  That's what it is, yes.

     MR. HARPER:  Fine, because I think when we’re -- the original questions, we're dealing with what the current fixed-variable splits were.  And therefore I was expecting to see revenues at current rates that calculate the current fixed-variable splits.  

Would it be possible to redo the response to part (b), basically using 2013 rates, but your final load forecast for 2014?

     MS. NANNINGA:  Yes, no problem. 

     MR. HARPER:  And in doing that, I would ask you to look at -- I was looking at these columns here, and you’ve got one column which has excluding the transformer allowance, and one column that has including the 

transformer allowance.  

And if you notice the one that's excluding, that is where you've taken the discount out of the variable revenues and therefore the overall revenues are lower; correct?

     MS. NANNINGA:  Correct. 

     MR. HARPER:  And it's the variable portion of the revenues that's going down, because you are giving the discount back as part of the variable portion, right?

     MS. NANNINGA:  Correct. 

     MR. HARPER:  I was just wondering -– so I would have expected to see that the fixed-variable splits, excluding the transform allowance, would actually have a lower 

variable value because you are actually taking the transformer allowance out, whereas when I look at the last four columns, the excluding actually has a higher value for both the GS greater-than-50 and the large user.  

And maybe when you're redoing that table based on existing rates, you could look at that issue at the same point in time.

     MS. NANNINGA:  Okay. 

     MS. HELT:  So undertaking JT1.9 will be to redo the table found at VECC Technical Conference Question Response to 58(b), using existing rates. 

UNDERTAKING JT1.9:  TO REDO TABLE AT RESPONSE TO VECC TECHNICAL CONFERENCE QUESTION 58(B), USING EXISTING RATES

     MR. HARPER:  Right.  Thank you.  And those are all my questions.  Thanks.  

     MS. HELT:  Who would like to go next?  Randy?


QUESTIONS BY MR. AIKEN:

     MR. AIKEN:  I will be very short.  I've only got a couple of questions, I think.  

The first one is on page 16 of the PDF file.  This is 4 Energy Probe 66, and it’s on page 16 and 17.  I am just trying to reconcile the numbers.  

You've indicated that the reduction in OM&A, from going from 2.2 percent inflation to 1.6, is $11,200.  And I was wondering if you can reconcile that with the response to parts (c) and (d), where in part (c) the response has a -– there is a $700 reduction for each 0.1 percent change in the inflation rate, and in part (d), which is the labour-based cost, that 0.1 percent change has an $8,700 impact.  

So when I add those two together, I get $9,400 for a 0.1 percent change, and I am trying to reconcile that with $11,200 for a 0.6 percent change.

Could you undertake to reconcile the answers to (b), (c), and (d)? 

     MS. HELT:  Undertaking JT1.10 will be to reconcile the amounts found in response to Energy Probe Technical Conference Question 66, parts (b), (c) and (d). 

UNDERTAKING JT1.10:  TO RECONCILE THE AMOUNTS IN RESPONSE TO ENERGY PROBE TECHNICAL CONFERENCE QUESTION 66, PARTS (B), (C) AND (D), APPLYING THE HALF-YEAR RULE

     MS. NANNINGA:  I will say that the part (d), the $8,700, that would be for -- just on the labour portion, whereas I believe, Liz -- and correct me if I am wrong, but the $11,200 is just on – that's non-labour inflation; correct?

     MS. MUIR:  $11,200 is non-labour. 

     MR. AIKEN:  Yes, so I thought about that between (b) and (c).  If the response to (c) is $700 for 0.1, then six times that is $4,200.  That is still different than the $11,200.

     MS. NANNINGA:  Yes, we'll check it. 

     MR. AIKEN:  My other question is on 9 Energy Probe 75, on page 27 of the PDF.  This is the one where you already agreed to an undertaking, but my question is on point number 4, at the bottom of page 27.  It says that you did not apply the half-year rule for depreciation expense in its forecast.  I'm assuming there you're only talking about this account, that for revenue requirement purposes you have applied the half-year rule for depreciation?

     MS. NANNINGA:  Correct. 

     MR. AIKEN:  Okay.  When you provide the response to this, can you also apply the half-year rule for this so that it's consistent with what you've done for revenue requirement purposes?

     MS. NANNINGA:  Yes, we can. 

     MR. AIKEN:  Okay.  Thank you.  And those are my questions.  Thanks.

MS. HELT:  Mr. Aiken, you didn't want that as a separate undertaking?  That can be...

     MR. AIKEN:  No, that would be part of the --

     MS. HELT:  Previous undertaking?


MR. AIKEN:  Yeah.


MS. HELT:  All right.  Mr. Shepherd?  

     MR. SHEPHERD:  Yes.  Thank you.  Is it on?  Yes...  [Laughter]  It's not the first time.  

     MR. AIKEN:  And it works both ways. 


QUESTIONS BY MR. SHEPHERD:
     MR. SHEPHERD:  I have a bunch of questions and a lot of them are in the way of explanations, and I apologize for not giving you questions in advance.  I just was too busy last week to get to it.  

     The first is -- and I'm looking at your cover memo to your interrogatory responses, item 18.  And that's the first of a number of references to Account 1576.  And I have to tell you that -- and I saw at the end you have an answer to one of the technical conference questions in which you list the issues you have in 1576.

At what point are we -- we don't have now a new proposal from you for 1576, do we?

     MS. NANNINGA:  Not yet. 

     MR. SHEPHERD:  When do we expect that?

     MS. NANNINGA:  Well, before November 5th, I suppose.

     MR. SHEPHERD:  Okay.  And can you just briefly describe -- the two components of this that I don't understand what you are doing are the issue associated with return on equity -- or, sorry, rates of return.  I don't understand how that is factoring into your calculation.  You had a whole thing where you were talking about the difference in rate of return during the past period and the current period.  And I'm not sure how -- I'm not sure what you mean by that.  I could not understand it.  So that's the first one.


And the second one is you're applying the PowerStream Decision in EB-2012-0161, and I couldn't reconcile how you are applying that to that actual Decision.


So can we start with the first one?  Can you explain just in -- so a lawyer will understand what the difference -- the point is about the difference in return?

     MS. NANNINGA:  Okay.  Yeah, I guess we have some issues with this one.  Liz, interject if I get any of this wrong as I go along.


So the appendix 2ED applies the 5.99 percent return on the balance of Account 1576, although the excess return was actually earned during the period of 2012 to 2013.  So you're taking an out-of-period rate of return and you are applying it to a different period.


So we believe that the 7.31 should be applied for the two years of '12 and '13 and not applied in the four years after Account 1576 balance has been finalized. 

     MR. SHEPHERD:  The return in '12 and '13 -- and this is where I got confused -- the return is about how much you collected from ratepayers more than was required under IFRS, right? 

     MS. NANNINGA:  Correct. 

     MR. SHEPHERD:  Whereas the return in the four years subsequent is a rate of return on a balance in a deferral account, right?  How are those the same thing?  I don't understand that.  I don't understand how they are related to each other.  One's a number that you have to refund and the other is a return on an amount owing. 

     MS. MUIR:  The return that is listed on appendix 2D is the return on assets.  And so what we're saying is that the return that we would rather return is the return that was earned on those assets in 2013 and 2014.  The assets have been reset at the beginning of January 1st, 2014.  So they are already earning 5.99 per cent at the new value.


So the assets, we've revalued the assets.  On January 1st, 2014 they are going to start earning 599, but we are paying back.  Basically, we're trying to match the return.  731 is the return that we earned in 2012 and 2013, so we would like to match the return. 

     MS. NANNINGA:  When it's going back out the door.



MS. MUIR:  When it's going back out the door.


MS. NANNINGA:  Matching of revenues to expenses. 

     MR. SHEPHERD:  The second thing, then, is PowerStream's Decision, and -- where is that?

     MS. NANNINGA:  That's the after -- we have to change that to an after-tax figure, and we have to calculate the amount of WEP that would have been in our general ledger as of the end of 2013 under both accounting methodologies.

We haven't done that, and we have to do that.  That's part of the undertaking in order to calculate that number. 

     MR. SHEPHERD:  Which undertaking is that?  

     MS. NANNINGA:  9 Energy Probe 75. 

     MR. SHEPHERD:  Because I'm looking at 9 Staff 44, and in 9 Staff 44 it looks to me like you're including in your calculation the WEP for 2012 and 2013, as opposed to the capitalized overheads at the end of 2013.  Am I misunderstanding --

     MS. NANNINGA:  We have to adjust it.  

     MR. SHEPHERD:  So I should ignore this answer.  This is -- this is not --

     MS. NANNINGA:  We will be updating all of Account 1576 following this conference. 


MR. SHEPHERD:  All right.  

     MS. HELT:  Sorry, Mr. Shepherd, if I can just interrupt, so then you'll be clarifying the answer to 9 Staff 44?

     MS. NANNINGA:  Yes. 

     MS. HELT:  As well?  Thank you. 

     MR. SHEPHERD:  Okay.  Should we make that an undertaking?  

     MS. HELT:  We can mark that as an undertaking.  JT1.11. 

UNDERTAKING NO. JT1.11:  TO CLARIFY THE ANSWER TO 9 STAFF 44

     MR. SHEPHERD:  Okay.  So then the next area in which I was confused -- and I may not actually be confused -- is you're currently doing the street lighting for Kitchener, right?

     MS. NANNINGA:  Correct. 

     MR. SHEPHERD:  And you've got an affiliate.  You're going to transfer that activity to the affiliate, but the same people are doing it.  It's still your staff that are doing it.  But the only thing is that now it's going to go through the affiliate, right?

     MS. NANNINGA:  Correct. 

     MR. SHEPHERD:  Why are you doing that?

     MS. NANNINGA:  To try and get in compliance with the ARC, is what we're doing. 

     MR. SHEPHERD:  Okay.  Now, you haven't been charging return on capital when you were billing the city directly.  Are you going to be charging return on capital when you're billing your affiliate?

     MS. NANNINGA:  I'll let Jerry take that question. 

     MR. VAN OOTEGHEM:  We will be charging a return on capital employed, so in our trucks, basically, that type of thing, but we don't own any of the assets, obviously, itself, so we will be doing fully -- full cost recovery.  We'll be charging that to Kitchener Energy Services, as a contractor to them, basically, and we will be charging a return on the trucks we use, basically, which is the only capital employed. 

     MR. SHEPHERD:  And then they are charging the same amount to the city?

     MR. VAN OOTEGHEM:  It hasn't been determined whether they are charging the same or not at this point in time, like, the affiliate, whether there will be a mark-up from the affiliate to the city.  We haven't decided what that amount would be.  We're still negotiating a contract with the city. 

     MR. SHEPHERD:  No matter which way you slice it, the city is going to pay more than they're currently paying, right?  Because they're going to pay at least the return more, but they also might pay another --

     MR. VAN OOTEGHEM:  Yes. 

     MR. SHEPHERD:  You have also a 9 percent administrative charge in there; is that right?

     MR. VAN OOTEGHEM:  We do. 

     MR. SHEPHERD:  Is that staying?  

     MR. VAN OOTEGHEM:  Yes, I would say it's staying.

     MR. SHEPHERD:  Okay.  Thanks.

I'm now looking at 1 Staff 4, and there's a number references to the half-year rule, and tell me whether I have -- and there's like seven or eight of them, so I’ve tried to fit them all together.  This is just one of them.

In your last cost of service, it was done on 

the basis of the use of the half-year rule, right? 

     MS. NANNINGA:  Yes. 

     MS. HELT:  But you don't actually use the half-year rule in financial accounting? 

     MS. NANNINGA:  Correct. 

     MR. SHEPHERD:  But you've restated all your regulatory rate base to use the half-year rule each year since 2010, right? 

     MS. NANNINGA:  Each year?  No. 

     MR. SHEPHERD:  All right.  So then you’re –- okay.  Why not?  Why wouldn't regulatory be consistent throughout? 

     MS. NANNINGA:  There was discussion in -- during -- after our 2010 cost of service proceeding, on changing our financial books to use the half-year rule for depreciation. And honestly, it fell off the table.  It wasn't something that we intentionally did not do.  

There's been a lot of changes and so on.  We're not averse to it, to getting there, not at all. 

     MR. SHEPHERD:  Okay.  That's one question, is consistency between financial and regulatory; I get that.   But what I was really asking is: If your rates are set in 2010 based on the half-year rule for your additions each year, and your rates are going to be set this time again using the same method, why wouldn't you, for regulatory purposes, be using the same thing in '11, '12, and '13?  Especially –- didn’t you have a transformer station in one of those years? 

     MS. NANNINGA:  Yes, we did. 

     MR. SHEPHERD:  So you had a big number? 

     MS. NANNINGA:  As I say, we have no issue with changing to it.  Absolutely none. 

     MR. SHEPHERD:  Okay. 

     MS. NANNINGA:  It really was a matter that it fell off the table just due to other pressures. 

     MR. SHEPHERD:  Okay.  Thanks.

The next question I have is on 1 SEC 3, and this has to do with your unusual situation where you are –- where you have eight transformer stations, right?

     MS. NANNINGA:  Yes. 

     MR. SHEPHERD:  Which is -- I think you may have more transformer stations than anybody else except Hydro One. 

     MS. NANNINGA:  Probably. 

     MR. SHEPHERD:  And am I right that that is like almost 20 percent of your revenue requirement in total?  You’ve got a number here of $7,000,000? 

     MS. NANNINGA:  Yes. 

     MR. SHEPHERD:  And so we asked the question what's the 

revenue requirement, which you gave us, and what's the impact on the annual charges from Hydro One.  And at the end of the question -- and this is on page 12 of the answers -- you said you don't pay any charges.

But what we're trying to get was what would you have to pay them if you didn't own these transform stations.  Do you know that number?  

     MS. NANNINGA:  We do.  We just calculated it last week.  I probably didn't bring it with me, but -- Jerry?  

     MR. VAN OOTEGHEM:  I was saving that for our next meeting. 

     MR. SHEPHERD:  It's more than $7 million, right?

     MS. BLAKEMAN:  6 million, in the neighbourhood. 

     MR. VAN OOTEGHEM:  6. --

     MS. BLAKEMAN:  It was 6.1 for 2012, I think, and 5.8 for, thus far, 2013. 

     MR. VAN OOTEGHEM:  That is using the transformation rate from Hydro One, transmission transformation rate for all of our load, basically, as if we had no transformer stations. 

     MR. SHEPHERD:  So it sounds like your decision to own your own transformer stations is not cost-effective.  I may be misunderstanding.  I just --

     MS. NANNINGA:  I'm not convinced that's true.  I think we’d have to do a little bit more analysis on the cost.  Our depreciation, of course, is high because we have two reasonably new transformer stations currently in service.  

I think our reliability and for our customers, there are many benefits that are not financial from having the transformer in your own service territory.

MR. SHEPHERD:  Sure.  Do you have somewhere a cost-benefit analysis of the strategy?  Because the longer you own a transformer station, the better off you are, right?  Generally speaking?

     MR. VAN OOTEGHEM:  Yeah.  We've owned them for 60 years now. 

     MR. SHEPHERD:  The new ones -- which are upping your costs, right?  Are the -– because, as you say, you’ve got a couple of relatively new ones.  They have very high depreciation, high cost of capital, right?

     MR. VAN OOTEGHEM:  Yes. 

     MR. SHEPHERD:  But as you own them longer, their payoff is larger, right?  

     MR. VAN OOTEGHEM:  For sure. 

     MR. SHEPHERD:  Do you have a cost-benefit analysis somewhere where you figured that out?  

     MR. VAN OOTEGHEM:  I'm not clear what the cost-benefit would be, depending on how long you own them, when it is to your advantage. 

     MR. SHEPHERD:  When you make a decision to spend whatever, $10 million on a transformer station, your alternative is you buy transformation services from Hydro One, right?  And that has a cost which you can predict, to a certain extent, and you can also predict the cost of owning the transformer station yourself, building it and owning it yourself.

You must do a comparison of the two and say:  Okay, it's better to own it.  That's the cost-benefit analysis I'm talking about. 

     MS. NANNINGA:  I did see something for the -– 

MR. VAN OOTEGHEM:  And I'm not sure that we have the option to actually -- to back out of owning transformer stations in the future.  This was an agreement that was, like I say, reached many, many years ago, that if we're in the game, then we stay in the game.  We can't opt in and out for every transformer station, to my knowledge. 

     MR. SHEPHERD:  This is an agreement you have with Hydro One?  

     MR. VAN OOTEGHEM:  Well, I’m -- that's my sense from  -- historically, that was the deal.  I can't produce the paperwork for you.  But my opinion was that you can't opt in and out for each location. 

     MR. SHEPHERD:  I've never heard of Hydro One not being 

willing to charge you money for transformation services.  They are always willing.  

So you don't have any documentation on that?

     MR. VAN OOTEGHEM:  I don't.  I don’t have it. 

     MR. SHEPHERD:  All right.  Can you see if you can find the cost-benefit analysis around somewhere?

     MR. VAN OOTEGHEM:  We did do a cost-benefit analysis for our most recent transformer station. 

     MR. SHEPHERD:  That's not in the evidence anywhere, right? 

     MR. VAN OOTEGHEM:  It’s not in the evidence. 

     MR. SHEPHERD:  Can you provide that?

     MS. NANNINGA:  I will undertake to find it for you. 

     MS. HELT:  That will be Undertaking JT1.12. 

UNDERTAKING JT1.12:  TO PROVIDE COST-BENEFIT ANALYSIS FOR NEWEST TRANSFORMER STATION

     MR. SHEPHERD:  My next question on this relates to 2 Energy Probe 6, and this, by the way -- this also comes up in a whole lot of other places.  In fact, it also comes up in 2 Energy Probe 12 and several other places where you have changes in the timing of capital purchases.

And it appears -- and I may be wrong here, but in Energy Probe 6, it looks like you say you had transportation equipment that you were planning to put in service in 2012.  You couldn't until 2013, and as a result, your 2013 capital expenditures are higher, right?

Aren’t your 2012 capital expenditures lower, then, by the same -- 

     MS. NANNINGA:  They were. 

     MR. SHEPHERD:  I didn't see any adjustments to them 

anywhere. 

     MS. NANNINGA:  They were lower than budget, but I will let Wilf talk to that one. 

      MR. MESTON:  Other than restating what you’ve just said, I'm not sure what the question is here. 

     MR. SHEPHERD:  Well, you made that -- after you filed, you said:  No, actually our 2013 budget is too low, because these trucks weren't delivered until 2013, right?


MR. MESTON:  Correct, yes.

     MR. SHEPHERD:  And so that means you have increased the 2013 capital additions.  But I would have thought what you filed for 2013 closing rate base would be too high then, because -– sorry, 2012 closing rate base would be too high because they weren't delivered.  Isn't that right? 


MS. NANNINGA: The trucks were a work in progress.  We put them in Account 27D, I believe.  It's called "Other utility equipment."

They were basically half paid for, paid for 

the chassis, but they were probably getting aerial devices put on, or something?

     MR. MESTON:  That's correct, yes.


MR. SHEPHERD:  So it wouldn't have been in rate base?

     MS. NANNINGA:  So they weren't in rate base in 2012.  They were sitting in work-in-progress, and our capital expenditures for 2012 came in I'm not sure how many dollars lower than we budgeted originally, Wilf.  We 

had to carry over.  

Do you remember how much was unspent in 2012?  

     MR. MESTON:  2012 in that account was $180,000 less, but we had the same situation occur the year before, where vehicles ordered in 2011 didn't appear 'til 2012.  If I look at the three-year period for our vehicle budget, we were in within $40,000 total.


MR. SHEPHERD:  I'm sorry, I'm asking the question badly, because I'm actually asking more of a procedural question.

You file an application in which you have a certain number for 2012 in rate base, right?  Whatever you have in WEP isn't in rate base, so it doesn't matter.  And so those trucks were in WEP; then they must've been included in your 2013 budget, because they couldn't have been 2012? 

     MS. NANNINGA:  Oh, our budget, our capital budget, would have been created in October.  And correct me if I'm wrong, but I would assume that Wilf would have been in the belief at that time that those trucks, when he created that capital budget forecast for 2013 and for 2012, that they were going to be in service by the end of 2012.

     MR. SHEPHERD:  So that's exactly what I'm asking.  So then what you filed would have assumed that those trucks were in service in 2012.  I didn't see an adjustment to the 2012 closing rate base after you found out that they were going to be delivered later. 

     MS. NANNINGA:  But the rate base and the budget are different.  I'm... 

     MR. SHEPHERD:  How did you do your rate base if you didn't do it based on --

     MS. NANNINGA:  Well, 2012 was based on actuals, though.  So 2012's reflected the trucks being in WEP and not being included in the rate base. 

     MR. SHEPHERD:  Okay.  So then you have a number of other things here in Energy Probe 12, where you have, for example, projects completed in May 2013 instead of December -- so, sorry, there's a better example.


You're completing a project in June 2014 instead of December 2013.  In another one, June 2014 instead of December 2013.  Have you adjusted both 2013 and 2014 for the fact that you've moved the completion date over a year in?

     MS. NANNINGA:  Basically, when we were projecting what WEP was going to be, it was not done on a project-by-project basis, it was done on a typical balance by line, account line, OEB account line, based on a typical year of what work in progress would be.


So we didn't have specific project values in those totals by -- for WEP.  We still believe we're going to end up at a typical year for year-end WEP balances of around 4.7. 

     MR. SHEPHERD:  Yeah, I'm not actually concerned about your WEP number; I'm concerned about your rate base number --


MS. NANNINGA:  Right. 


MR. SHEPHERD:  -- because if you have a project that you expected to be completed in 2013 and it's now going to be in 2014, your closing rate base in 2013 is going to change, and I didn't see any changes.  That's why I'm asking. 

     MS. NANNINGA:  Yeah, there was sufficient room in Account 18 -- is it 1815, Liz?  1815?  For that project to be deferred, because -- again, correct me if I'm wrong, Liz -- when Liz was projecting what WEP was going to be, she took a look, at a high level, mind you, at the projects that were in there, and typically anything that would run through 1850 and has a longer time to completion, and so in fact that was built into it.  Correct? 

     MS. MUIR:  Right. 

     MR. SHEPHERD:  Okay.  Then my next question is in 4 Energy Probe 29(a).  And you see the table there.

So this is a presentation I've never seen before, but I understand that the 1,692,337 is basically the change in capitalized overhead, right?

     MS. NANNINGA:  Yes and no.


MR. SHEPHERD:  Okay.  Well...


MS. NANNINGA:  Because there's the reallocation of engineering and wages to expense.  So the wages to expense is a little bit different, the 233, but basically, yes. 

     MR. SHEPHERD:  Sorry, I'm looking for that particular item -- 

     MS. NANNINGA:  Okay.  So there's the top piece, which is all of the your month-end allocations that we do, which ends up at the $832,000 number.


MR. SHEPHERD:  Yes.


MS. NANNINGA:  Then the next line is we have a reallocation of engineering, and engineering used to be 100 percent allocated to capital, and under the modified GAAP it reduced the amount that goes to capital, and so 626 has landed in OM&A.

     MR. SHEPHERD:  Okay.  So I shouldn't have said capitalization of overhead, because you are right.  Yeah, what I meant was the capitalization of OM&A, the capitalization of operating costs.

     MS. NANNINGA:  Yes, correct. 

     MR. SHEPHERD:  So that 1692 is the change in the capitalization of operating costs, right?

     MS. NANNINGA:  Yes. 

     MR. SHEPHERD:  And I also understand that the 3,870,787 is the change in your depreciation rates because of useful lives changing, right?

     MS. NANNINGA:  Correct. 

     MR. SHEPHERD:  So I don't understand what the 86,765 is up above, because I only know of the two big changes to modified GAAP. 

     MS. NANNINGA:  Oh, that is -- there's a table above this table that you can't see.

[Laughter.]

MS. NANNINGA:  That has the change in capital, your fixed assets.  So the whole thing ties in together, and there is a burdened -- stuff that would have been burdened before -- burdened before or wasn't burdened before and now is burdened.  And so there's a slight disconnect between the two, and I can certainly provide the reconciliation of the top piece.  You can see how it all ties together.  That's not a problem.  But there are certain overheads that get re-burdened, and so the amount that go to your fixed assets versus the amount that goes to your income tax statement are not exactly the same, because --


MR. SHEPHERD:  You're saying this to me as if you think I'm going to understand.  It's very nice.  I appreciate that.

But can you give us the table -- the part above so -- 

     MS. NANNINGA:  I can. 

     MR. SHEPHERD:  -- that I can at least try to figure it out?  Or get Randy to explain it?


MS. NANNINGA:  Okay.

[Laughter]

     MS. HELT:  So Undertaking JT1.13 will be to provide an additional table to reconcile and provide further information with respect to the table that is already provided in response to Energy Probe Technical Conference Question 29(a) -- IR, sorry.

UNDERTAKING NO. JT1.13:  TO PROVIDE AN ADDITIONAL TABLE TO RECONCILE AND PROVIDE FURTHER INFORMATION TO THE TABLE ALREADY PROVIDED IN RESPONSE TO ENERGY PROBE TECHNICAL CONFERENCE IR 29(A)

     MR. SHEPHERD:  I have just a couple more, so rather than take a break maybe I should just keep going.  

     MS. HELT:  That's all right, yeah.

     MR. SHEPHERD:  I'm looking at 6 Staff 31.  You see there's a table -- there's two tables here, actually, a return on actual rate base and return on deemed rate base.  And I've actually understood most of it, but except for in the section "Return on deemed rate base," the distribution expenses in 2014 tests are 24,995,499, whereas in the one above they are 26,488,4053 (sic).  Distribution expenses are the same throughout, except for that one year, and I didn't understand where that 24,995,499 came from. 

     MS. NANNINGA:  No, I hadn't actually updated the whole tracking table and the whole revenue requirement model when these tables were done, so for consistency I would like to take this as an undertaking and update these numbers to exactly where we're sitting on the tracking sheet today, and then --


MR. SHEPHERD:  And then most of the numbers will --


MS. NANNINGA:   -- everything will tie, yes.


MR. SHEPHERD:  Okay.  Thank you. 


MS. NANNINGA:  They better.  [Laughter]

     MS. HELT:  Undertaking JT1.4 (sic) will be to update the tables found at the response to 6 Staff 31.

UNDERTAKING NO. JT1.14:  TO UPDATE TABLES FOUND AT RESPONSE TO 6 STAFF 31

     MS. HELT:  1.14, yes.  Thank you. 

     MR. SHEPHERD:  My next question is with respect to your new appendix 2JB.  This is a recoverable OM&A cost driver table.  I don't have a page number or anything.  It's just one of the attachments, appendix 2JB. 

     MS. NANNINGA:  Okay.  Got it.

     MR. SHEPHERD:  And so what I didn't understand is you have some of the things in these cost drivers that appear to be one-time things, so you have a rebate received in 2012 and not 2013.  

When you have that, I would have thought that it would increase your OM&A one year and then decrease it the next year, or vice versa, whereas this appears to be a permanent increase, $95,000. 

     MS. NANNINGA:  I do remember the rebate, 95.9, and we didn't have a significant increase in the liability insurance, the $6,900 –- so, Liz?  

     MR. SHEPHERD:  Before I -- I'm going to ask for an undertaking on this, but before I finish it, there are other things here like, for example, overhead line maintenance, $109,434.  That's in the 2013, and there’s nothing else.  

I assume that's then a permanent increase in your budget for that amount, right?

     MS. MUIR:  It's a project that was undertaken and not -- it's a one-time project that was undertaken in one year and not going to be continued in the next year. 

     MR. SHEPHERD:  Well, then that should -– it should have a reduction in 2014, shouldn’t it? 

     MS. MUIR:  You'll find other projects, I suppose, that I should have added in 2014 that would take up -- I mean, I could take a minus on the 109, and then add another project in, in 2014,that would be taken up. 

     MR. SHEPHERD:  All I'm saying is I would like you to take a look at this entire table, because obviously we have a mismatch on what we think it should look like.  And wherever you have something that is a one-time adjustment that you show the other part of the adjustment.  And then if there are other things that you have to put in to show what the other drivers are, that's fine.  

And I'll ask one specific question on this, and that is IT programs.  You’ve got a $267,000 increase in 2013 and $268,000 increase in 2014.  Are those cumulative?

     MS. MUIR:  Yes. 

     MR. SHEPHERD:  So the total increase is $540,000?

     MS. MUIR:  Yes. 

     MR. SHEPHERD:  Okay.  Thank you.  So you'll undertake to look at this table?

     MS. MUIR:  Yes. 

     MS. HELT:  That will be Undertaking JT1.15. 

UNDERTAKING JT1.15:  TO REVIEW TABLE IN APPENDIX 2JB AND CORRECT IF NECESSARY
     MR. SHEPHERD:  I've just -- I have a question on your 

response to Energy Probe 67, which is page 17 of your material.  This has to do with the monthly billing.  

     MS. NANNINGA:  Got it. 

     MR. SHEPHERD:  So do I understand that correctly, that your revenue requirement in the test year is $401,500 higher because you’ve gone to monthly billing?  Right?

     MS. NANNINGA:  Rhonda?

     MS. YARASKAVITCH:  Yes. 

     MR. SHEPHERD:  Yes?  

     MS. NANNINGA:  Yes, it is. 

     MR. SHEPHERD:  Okay, but have you included somewhere some benefits of going to monthly billing?  

     MS. YARASKAVITCH:  Do you mean for the customer, or for a revenue flow?

     MR. SHEPHERD:  Revenue requirement benefits. 

     MS. NANNINGA:  Revenue requirement benefits. 

     MR. SHEPHERD:  Most utilities that we’ve seen have gone to monthly billing.  It's actually about neutral.  There's more cost, but there is also more benefits.  That ends up being a wash, or sometimes they’re actually better off. 

     MS. NANNINGA:  I'm not sure -- from our revenue requirement model, I'm not sure what you mean by "benefits." 

     MR. SHEPHERD:  Well, for example, collection costs go down, bad debt goes down, working capital goes down, all sorts of things go down because are collecting monthly instead of bimonthly.

     MS. NANNINGA:  Okay.  Rhonda, do you have anything with collections, bad debt?

     MS. YARASKAVITCH:  Not at a detailed level like that. I mean, we certainly took all of those situations into consideration, our exposure, you know, just ease for the customer.   

Our bad debt obviously would hopefully go down.  Collection costs would go up on the other side, because you're out there more frequently, potentially.  

But as to doing a full cost analysis, no, that was not done. 

     MR. SHEPHERD:  So you didn't do any cost-benefit analysis for going to --

     MS. YARASKAVITCH:  No.  

     MS. NANNINGA:  Okay.  Thanks.  

MS. YARASKAVITCH:  Just as an aside, at one time there was discussion of the Ministry of Energy mandating monthly billing, so we felt it was just a smart move to move forward with monthly billing, rather than have it being mandated to do it in a hurry. 

     MR. SHEPHERD:  My second-last question is on 4 Energy Probe 68(b).  You've suggested that you could extrapolate your $1,692,000 capitalized OM&A to a full-year basis -– sorry, your 1.2 to a full-year basis, but -- assuming the expenses are incurred evenly.

But actually that kind of expense isn't incurred evenly, is it?

     MS. NANNINGA:  Typically, it’s not, in fact.  We've found most of our distribution expenses are incurred near the end of the year.  Liz just recently did an analysis on that.  

We can certainly update this with September actuals. 

     MR. SHEPHERD:  What I'm asking is something different.  The expenses that you're talking about are actually the ones that are capitalized, right?  That would have been capitalized in the past?

So they’re ones that you relay to capital projects? 

     MS. NANNINGA:  That’s true, yes.

     MR. SHEPHERD:  And so capital projects tend not to be even throughout the year, right?

     MS. NANNINGA:  No, they are not. 

     MR. SHEPHERD:  Spending. 

     MS. NANNINGA:  That's true. 

     MR. SHEPHERD:  You're not suggesting that the 1.85 is the correct number.  You are still sticking with the $1,692,000?

     MS. NANNINGA:  I think the $1.7 million, I think it's a reasonable proxy.  I really do. 

     MR. SHEPHERD:  Okay.  That’s all my questions.  Thank you. 

     MS. HELT:  Thank you, Mr. Shepherd.  Perhaps now would be a good time to take a break.

Mr. Garner, do you have many questions?

     MR. GARNER:  I do not, and that's why if -- it depends what Board Staff has to do, because mine are going to be very quick, I think.

     MS. HELT:  Mr. Ritchie?  And Wendy?  

     MR. RITCHIE:  We have a few questions.  It's actually some that really are -- that we didn't ask, that we just didn't have ready.  But we do have a few questions to follow up on. 

     MS. HELT:  How long do you think you'll be?  Half an hour?


MR. RITCHIE:  Less than that.   

MS. HELT:  So then we have a choice.  If everyone, including the reporter, wishes to continue, we can do that.  Or we can take a short 10-minute break and come back.  Is there any preference?  

All right, then.  Why don't we continue?  Mr. Garner?

QUESTIONS BY MR. GARNER:

     MR. GARNER:  Thank you, Ms. Helt.  I am Mark Garner with VECC, and I’ll be very brief.  

In the response to your -- the original interrogatories, there was an update done on page -– a summary of the updates done on page 4 of the PDF document.

In that update, you indicated that there was decreased capital contributions of $689,500.  So that was a 

reduction from basically 3.9 million to 3.2 million.

And my question is:  I've been looking for an explanation of why that adjustment was made, and I'm wondering if I've missed it, or if you can help me with that.  

     MS. NANNINGA:  Lloyd?  Greig?  

     MR. FRANK:  Could I ask you to repeat the question, please?  I am not sure I followed.

My name is Lloyd Frank. 

     MR. GARNER:  You have, for the 2013 capital expenditures, made a reduction in your answers to the interrogatories of $689,500.  

But I didn't find an explanation for that; I didn't find a reason for that.  I may have missed it, or perhaps you can just direct me to where it is.  

     MS. NANNINGA:  Greig, do you want to take this answer?  I think you know this one.  It's the decreased contributed capital, Greig.

MR. CAMERON:  All right.  So for the year 2013 to date, we have seen downturn in our capital contributions due mainly to inactivity in subdivision developments.  Most of our capital contributions for capital projects tend to come from subdivisions, and we'll see a decline in the recent activities. 

     MR. GARNER:  I wonder if you could, as an undertaking, then show us the -- provide a table which would show us the original capital projects that were in the 2013 budget that this therefore relates to, and...

     MS. NANNINGA:  Would you be able to do that, Greig?


MR. CAMERON:  I'm not sure what we have provided in the original submission. 

     MS. NANNINGA:  It was mostly a number, 3.935 million.


MR. CAMERON:  Okay.  Liz will help with that undertaking.

     MS. HELT:  So that will be Undertaking JT1.16. 

UNDERTAKING NO. JT1.16:  TO PROVIDE A TABLE TO SHOW ORIGINAL CAPITAL PROJECTS IN THE 2013 BUDGET

     MR. GARNER:  Thank you.


And again, this is just now a bit of an explanation to a table that was again provided in the interrogatories.  And it's on page 41 of the PDF, and it's in response to 2 Energy Probe 13.  And this should be simple.

I just am having -- I was just struggling a little bit to understand what the table is trying to show me between April 12th and December 12th.  Maybe what I'm asking is:  Could you just walk me through the table that you gave in response to 2 Energy Probe 13?  And you'll see you were doing here a change, I believe, to some incorrectly allocated amounts?

     MS. NANNINGA:  Kelly, I think you did that table.  

     MS. BLAKEMAN:  The meter-reading fees, when I did the application I accidentally put to operations, and they should have been to billing.

     MR. GARNER:  And this is just showing the reduction, therefore, in -- 

     MS. BLAKEMAN:  It's just showing that, yeah, that I've removed it from operations and added it to billing. 

     MR. GARNER:  Thank you.


Sorry, I'm just...  I think that I have another question.  I can't find the reference, so maybe what I'll do is maybe let Board Staff go do their questions, and I'll just see if I can find the reference. 

     MS. HELT:  Thank you, Mr. Garner.


Mr. Ritchie?


QUESTIONS BY BOARD STAFF:
     MR. RITCHIE:  Okay.  I'll actually refer back to the cover of -- or the introduction to the IR responses.  And, sorry, just bear with me for a minute.

In paragraph 15 on -- in the intro, basically, you state that the inflation factors for non-labour inflation need to be updated to coincide with the Board's issue, inflation factors.


Now, I guess right now I think pretty much everyone here is aware of the draft Report of the Board with respect to, I guess, the RRFE initiative that was issued on September the 6th, which -- and again, the draft Report, the Board talks about a two-factor IPI, which would be composed of a weighted average of the average wages and earnings for the labour, and then I guess the GDP IPI for the non-labour materials and the capital.


I'm just wanting to seek clarification as to what inflation factor you're suggesting it would be updated here?

MS. NANNINGA:  Would be the 1.6 for the -- anything that's -- for the non-labour, so for materials and things like that, 1.6 that was announced by the Board.  I can't remember the day, but it's effective from May 1st, 2013 rates. 

     MR. RITCHIE:  Okay.  And so this is reflected now in the RRWF and in your application, or --

     MS. NANNINGA:  I haven't applied.  I haven't made the RRWF yet, but it is reflected in the tracking sheet that we sent through last time.

     MR. RITCHIE:  Okay.  So in other words, basically when we get into the ADR in just over a week, basically, it was reflecting really the 1.6, which is the GDP IPI, as the Board issued it, for the May 1, 2013?

     MS. NANNINGA:  Correct. 

     MR. RITCHIE:  Okay.  Thank you.


I have one other follow-up, and it's really following up on a discussion that you had with Mr. Harper, and it's on the embedded distributor, and it's been a very valuable discussion.  I think we ourselves are also trying to understand the 2Q, the appendix 2Q, vis-a-vis what's in the cost allocation model and on sheet 04 (sic).  And I was going to say it's probably, as I'm going to say, really an add-on to the undertaking that was given to Mr. Harper.

     What we've sort of noted is there do seem to be differences in terms of the inputs that seem to be in sheet 04 -- or, sorry, I4 of the cost allocation model, and I believe this is sort of like the directly allocated cost vis-a-vis what is in 2Q.

And I guess as one example, in terms of N2Q for the transformer stations, you're showing a gross book value of about $72.8 million, whereas for Account 1815 in sheet I4, we believe it's -- you're showing $62.4 million.  Again, for overhead, 2Q is showing $77.9 million, vis-a-vis we seem to have a total of about 73.4 million if we sum up the Accounts 1830 and 1835.


So it's -- I think probably one -- the inner workings of the cost allocation model are probably -- maybe bordering on very -- almost unknowable at this point.  You know, it's not to say that -- and I guess because -- I guess because of, one, this is new for you, and because it really isn't used a lot by a lot of other distributors, I think we're trying to see -- like, we're trying to ourselves understand what's -- how the model works and then also trying to understand what is -- why we're seeing the differences between when you've put the embedded distributor directly in the model versus 2Q, and what is being driven by, you know, the different numbers.


So I think really what I'm asking is:  Part of the undertaking, could you also look at the sheet I4, what the cost allocation model and sheet -- and the appendix 2Q and see if you can sort of yourselves come up with some sort of reconciliation?


It's not to suggest -- you know, I think everyone is probably -- we're probably in the ballpark.  It's just a matter of can we sort of come up with a better understanding of the differences.  And particularly this affects, I guess, the -- really what we're seeing as being the revenue-to-cost ratios that pop out of the cost allocation model.  You know, if we had better numbers and probably if we -- maybe if there are corrections that need to be done to the cost allocation methodology, we could actually have a better result. 

     MS. NANNINGA:  No problem.  We can -- it's been a very long time since I filled out appendix 2Q, so the numbers aren’t really fresh in my brain right now.  

Liz is the one that did the cost allocation, and we found, as you said, we're not getting the same result.

So yes, we will try and reconcile everything for you. 

     MS. HELT:  Then perhaps we'll mark this as a new undertaking, but we will refer it back to the undertaking given Energy Probe; that was under JT 1.8, with respect to the cost allocation model.

But this undertaking, JT1.17, will be to look at the differences in the numbers in sheet TQ (sic) versus that of sheet I4, and provide some sort of reconciliation and information with respect to the differences in the inputs in those two documents. 

     MS. MUIR:  2Q, not TQ. 

     MS. HELT:  2Q.  I'm sorry, yes, 2Q.  Thank you.

UNDERTAKING JT1.17:  TO RECONCILE NUMBERS IN SHEET 2Q TO SHEET I4, AND PROVIDE INFORMATION WITH RESPECT TO DIFFERENCES IN INPUTS  

     MS. CASTELLANES:  Bendimia Castellanes, Board staff.    I had actually originally had two questions, but most of them have been answered because of the questions that Energy Probe did.  But I have some clarification questions in here.  

In 9 Staff 57, where you have appendix 2ED, you mentioned that there was -- in the calculations that you gave earlier in your IR response, there was mention of the PowerStream work-in-process.  Would that be --  

     MS. NANNINGA:  I'm sorry, I am still just trying to find the -- I just don't want to get lost. 

     MS. CASTELLANES:  9 Staff 57, the response to 9 Staff 44.  


MS. NANNINGA:  Okay.  I am with you now.

     MS. CASTELLANES:  Okay.  Thanks.  You mentioned in your response in 9 Staff 44 that the work-in-process is really a share of the PowerStream Decision based on 

2012-0161; am I correct?  

So would that be -- just for clarification purposes, is that part of the 5.3 million, or is it part of the 7 million that was in the Board Decision?  

     MS. NANNINGA:  It was the -- I believe the 5.7 was the after-tax effect. 

     MS. CASTELLANES:  After tax. 

     MS. NANNINGA:  So it would be the after-tax that we have to adjust to.  We have not adjusted to it yet, but that would be the number. 

     MS. CASTELLANES:  Okay.  So also in the same response under 9 Staff 44, I originally requested for this appendix 2B, under the former and revised CGAAP, I understand -- like, we had provided the utilities the forms for appendix 2B under the revised CGAAP, but really not under the old CGAAP.

So when will you be -- I believe this is an undertaking, right?  We would request you to submit, especially the former -- under the former CGAAP, appendix 2B for 2013, because I think you've been providing only 2012, '13 and '14.  Okay?  So we could see the figures. 

     MS. MUIR:  We're working on that. 

     MS. CASTELLANES:  I guess the other thing is if we were to refer to your response to a 9 Energy 75, there were a litany of questions in here that I would assume would update this appendix 2ED; correct?

     MS. NANNINGA:  Yes. 


MS. CASTELLANES:  So the thing that strikes me in here is the return of 5.99 and 7.31.  The Board came up with the policy based on this appendix 2ED, and if you'll notice, this has been consistently used ever since, even in 1575, that they are using the weighted average cost instead of the actual return -– the return that you have in here, 7.31.

So I just want to point out to you that Board policy that specified the weighted average cost.  

     MS. NANNINGA:  The weighted average cost of capital? 

     MS. CASTELLANES:  Yes. 

     MS. NANNINGA:  Okay. 

     MS. CASTELLANES:  I think that's about my -- those are my questions for today.  

     MS. HELT:  Bendi, if I could just ask for you to clarify on the record, you wanted an addition to the Undertaking JT1.11, which was related to 9 Staff 44.

Can you just clearly state what additional information you were looking for, for that undertaking?

     MS. CASTELLANES:  First, I would like to have the supporting documentation for that appendix 2ED, both under the former CGAAP and revised CGAAP for -- let's put it, 2011 to 2014.  Okay?  Because -- especially the CGAAP portion, and then -- 

     MS. MUIR:  Sorry, excuse me.  2014 and the former CGAAP?  Do you want 2B for 2014 and the --

     MS. CASTELLANES:  2013, for former CGAAP.  I know that's extra work, sorry.

And then we would like to have a revised calculation of the rate riders under 1576, because of the changes that you are going to do, right?

     MS. NANNINGA:  Right.  That will fall out.

MS. HELT:  Thank you.  Are there any -– Mr. Garner?

     MR. GARNER:  I have one final question.  I found this reference.  

The issue I want to speak to is the MEARIE Insurance premiums paid by Kitchener, and there's a couple of references.  The original question was for VECC 29, and then there was a follow-up question for VECC TCQ-43.

Here is the nature of my question.  In the response to the original IR, you indicated that Kitchener was seeing reductions in premiums.  And the follow-up question in the technical conference questions was to explain how you derived those premiums.  


The first question is actually what reductions we're talking about, because if I go to Exhibit 4, tab 6, schedule 1, you've actually listed your MEARIE premiums, and in fact I understand them going up from, in 2010, 356K, to 2012, 535K.  So it appears your premiums are actually increasing, not decreasing, as the response to interrogatory tends to imply, the original interrogatory.  So I would like to talk about that.  

So what I'm looking for really are three things, to cut to the point.  

The first thing is:  What are the MEARIE premiums in 2013 and 2014 forecasts?  

     MS. NANNINGA:  I'll have to get that for you. 

     MR. GARNER:  That is why I'm saying in the sense of 

Undertaking.  I think there’s three parts and you’ll probably need to be able to get all of them to me.  

The other one was:  How is the $390,000 that is in response to 4 VECC TCQ 43 actually calculated, which is what you indicated was your portion of the savings in premiums?

And then could you give me an explanation for why the premiums are increasing between 2010 and at least 2012, and -- because I don't have 2013 and '14, the ultimate question is:  If they are also increasing further in 2013 and '14, to just give an explanation as to why the premiums have increased over 50 percent since 2010.

     MS. NANNINGA:  There was a significant jump.  I can tell you right off the top of my head there was a significant jump in -- I'm not sure of the year, Jerry, when they revalued our assets.  They had not been revalued in a number of years, and there was a significant increase in the total insured value.  

That is separate from the rebates that come back as a member of the reciprocal.  But I will be able to get those numbers to you. 

     MR. GARNER:  Okay.  And on that matter about the rebates, I wasn't aware of that.   I'm looking at the premium numbers that were filed in the evidence.

If that premium number is not net of the rebate, perhaps you can give me the premium and the rebate so we can see the net number in insurance premiums you are paying? 

     MS. NANNINGA:  I can do that. 


MR. GARNER:  Thank you.  That was my question.

     MS. HELT:  All right.  So then those four questions will all be part of Undertaking JT1.18. 

     MR. GARNER:  Thank you. 

UNDERTAKING JT1.18:  TO PROVIDE SUPPORTING DOCUMENTATION FOR FORMER CGAAP AND REVISED CGAAP, LIST MEARIE PREMIUMS IN 2013 AND 2014 FORECAST, AND EXPLAIN INCREASE IN PREMIUMS BETWEEN 2010 AND 2012.  IF PREMIUM IS NOT NET OF REBATE, SEPARATE THE TWO

     MS. HELT:  Thank you.  Is there anything further from any of the intervenors or Board staff?  

     MR. BACON:  Can I just confer with the panel for a second?  It's Bruce. 

     MS. HELT:  Yes.  


[Witness panel confers.]

     MR. BACON:  Just a clarification is that we understand the appendix -- what appendix is 1576 calculated to be?  2E?  We understand it's Board policy; that's 5.99.  We understand that.  But we want to make it clear that our position coming in is 7.31.  Okay?  That's just to clarify.  Okay.  Thank you.  

     MS. HELT:  Thank you, Mr. Bacon.


If there is nothing further, then I would like to thank the witnesses and Kitchener for coming in today and for providing as many answers as possible.

There are 18 undertakings that have been given today.  As you are aware, Procedural Order No. 2 requires that responses to the undertakings be provided by November the 5th, and the settlement conference is scheduled to commence at 9:30 on November the 7th, and if necessary it will continue on until November 8th.  The settlement conference will not be held in this room, it will be held in the other hearing room, the north hearing room.


So if there is nothing further, then that concludes today's technical conference.  Thank you, everyone. 


--- Whereupon the technical conference concluded at 11:55 a.m.
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